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The figures in the m}zrgin indicate full marig
Jor the questions,

Answc?r question Nos. 7 and 2 and
’ any five from the rest.

& Choose the correct alternative - : I1x10=10

@ If N be a set of natura] numbers, then
{0} - N is

R @ {0}
(i) (L2 5
(i) ¢
iy 0, Lagm &

Contd.




(b) If |
@ and B be the roots of th i
: » : 1€ equation
2x° —5x + 2 = 0 then the value of o’ +,32 1
S

(i) %
(ii) 147_
(iit) 17
(iv) -g.

()
(
)

(@) -0
R
(iii) 2
(iV) Can’t say.

@ h.v logx2+10gx4+logx64=9'.th £ Tl
@ 2 e 18
(i) 3
(iii) 0
(iv) 4
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() Inan LPP

(i) only the objective function is linear

(ii) ~only the constraints
(iii) The objective function as well as the
constraints are linear ;

are linear

(iv) None of the above.
g(x)= 2x +10 and
£ the following is true ¢

@ 1t f(x)=4x+8,

h(x)=x+ 2, then which 0

0 fw=-g®atx =]
(ii) f(x)=h(x) atx = 4. : e
(iii) g(x)= hix). % = 7 . _ |
(iv) None of the above.

_5x+k=0 be double -

If one root of 2x*
the value of k 18

the other root, then

w25
W S
o
i) 2
(iv) S
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3
(%)  The valye of f X dyt s

@ 18
(i) 36
(i) 0 (c) Find the rmddlc terms of (l 2x + X )
(lv.) > (d) Prove that
() For the . :
‘ . optimum soluti j b b +be+c? A ¢ +ca+a’ " gy +abi»- 2 :
Involving three variables, i:r)en C:l)lf uasn Lpp [i—;] x [%‘—] X ‘ii-b—] iyl
o
() GraphICal method - : : X
(i)  Simplex Yt (e) If the total profit function is given by
Gl Bl /=0 +130+78 where Q is the output,
y e (1) or (i) find average proﬁt when Q = 3.
v) N
, s (/) The 3rd and 6th terms of a series in G.P. are
g 3 and 81 respectively, find the first term and
€ roots of the equation 42 common ratio.
are equal then e +bx+c=0 ‘
Y+
@ p2_ (@ Solve: 4" =2",27%=9"
—4ac = 0
9 e 4ac <0 3. (@ If p'a' = qb =r° and pgr=1 find
‘ b+bc+ca 3
. b2‘4ac>0 (b) ;' d th cl f k for which th ti
(%) Any of { ind the values of &k for which the equation
5 G B dhove %2 —Jx—21=0 and x* —3kx+35=0 may
MAT 1.3 have a common root. 3
‘ 4
‘ 47 (1) BMAT 1.3 S Contd.

nswer the following : (any five) 2x5=10 \

Define one-to-one function and onto function

23
‘() Prove that log,>® = 2+210g105




(@ If g® 4> *
a” +b° =14ab prove that

: @ If one ro + Ox
. ot of the equation '
! ax bx +
1S five times the other, then find the ré’l‘

between a, b and ¢

4. (@) Evalute:

(1) lfm @

x>0 2

2 .
(i) Tin AL ECE 6
x2 XU =Tx +10

(iii) lim 3x® —4x+6
x>a x° +6x—7

2,52
1 +2 +32+...+n2

(iv) lim
xa 3
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A function i-s defined in (0, 3) in the
: 4

following way

f(x)=x* Ol
0.0 Lan <l

1 %
=z-x3 | 2<x<3

Is f(x) continuous at x = 2

(@) Find derivative %J—;- (any three) 2x3=6
. ol
R
(i) x =yloglw)
i ¥ = 7 .
(iv) ¥= xlog*
(b) The average cost function AC for producting
x unit of a commodity is AC= é)g ~12+2x.
Find the level of output at which the total
cost (TC) is minimum. Also find the
minimum total cost. 6
Contd.

47 (1) BMAT 1.3




Or
The daily cost of production C for X
an assemble is given by '

C(x) =Rs. 12.5x + 6400

(t)  Ifeach unijt is.sold at Rs, 25, dete
the minimum numper of units
should be produced and sold to ¢
no loss.

(i) If the selling price is reducé
Rs. 2.5 per unit, what would b

break-even point ?

6. (@ What do you mean by LPP? Give |
advantages and disadvantages of LPE S
s p.

(B) Solve the LPp by graphical method
Minimize 7— 205, 40y subject to
6x+y>18
X+4y>12

2x+y2>10 , xX,y>20
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‘ x of the
) Find the value of the term free from
- Fin

12 2
e
expanSion (9x 3X)
: 15
] : o CLLT x3)
: T e A T
“(b) Find the coefficient of x ( 3

he value of
‘o binomial theorem, find the' | :
gt laces of decimal. |

tloz)fdertob® K

fif)"Prove that 5
=n2"
C, +2C, +3Cy ko

Answer any three : v
(a) Find the inverse of the
a

T
B2 8
gy )

(b) Show that .

2 b* c
c+a a+b
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4x3=12

& toar C2 '_(b,c)(c—.a)(“"b)(a+b+C)

Contd.




‘method
X+ty+z=4
2x-y+3z=1
3x+2y—z=1

g

two companie
s A & B during
January and February 19332%% months of
P

nt invested b
two months for A y Mr. X du

the two companies

a.ISO gives
ring these
purchase of shares of

- Month
‘(;‘ompany and Total a
alue per share 1’nvesrtm()iunt
¢ St :
Jan 10 i 1
Feb 25
ool 150

Find the n

umber
purchased durin 9
Cramer’s rule.

| ares of A and B
g both the months using ¢ '

TS
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9.

10. (@) 1ff(x)_=b’§)'_‘1’+a’;_b,

@

Answer any three : 4x3=12
(@) ~ A man borrows Rs. 5115 to be repaid in 10
monthly instalments. If each instalment is
double the value of the last, find the value

of 1st and last instalments.

() The sum of three numbers in G.P. is 26 and
their product is 216. Find the numbers.

(c) Find the sum of n terrﬁs of the series

7+77+777+ .........

(d Ifthe A. M. between a and b (a>b) is twice
as large as their G.M. prove that the ratio
between the numbers can be written as

2+J§:2—J§

. then

f(a)+f(b)=f(a+b) 3
h of the following function

the grap
3

f(x)=1x|

In a class of 100 students, 45 students read
students read chemistry and 17
d both the subjects. Find the

(b) Pro

(c)
- physics, 52
students rea

Contd.
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number of . students who study neither
physics nor chemistry. 3

(d) Verify by using Venn diagram
N(BNC)=(4NB)U(4NC)

d

11. (a) Integrate the following : (any three) r
; : 3x3=9"

@
(ii) _[ (3x2 + 2)3 xdx
(iii) [x*e*dx B

3x+5
_(zv) j par Ly

() The marginal cost of producmg x dozens 0‘

pencil 1s Rs. (Sx —4x+ 12) If the cost of

producing 2 dozens pencil is Rs. 200, find
the total cost function. - 3

47 (1) BMAT 1.3




